

# 問4.4(a)

1202483 渡辺謙仁  
(東京理科大・物理)

$$\nabla^2 = \frac{\partial^2}{\partial x^2} + \frac{\partial^2}{\partial y^2} + \frac{\partial^2}{\partial z^2}$$

$$r = (x^2 + y^2 + z^2)^{\frac{1}{2}}$$

$$\frac{\partial}{\partial x} r^{-1} = \frac{\partial r}{\partial x} \frac{\partial}{\partial r} r^{-1} \quad (\because \text{chain rule})$$

$$= \left\{ \frac{1}{2} (x^2 + y^2 + z^2)^{-\frac{1}{2}} \cdot 2x \right\} \cdot \{-r^{-2}\}$$

$$= \{xr^{-1}\} \cdot \{-r^{-2}\}$$

$$= -xr^{-3}$$

$$\therefore \frac{\partial^2}{\partial x^2} r^{-1} = \frac{\partial}{\partial x} (-xr^{-3})$$

$$= -r^{-3} - x \frac{\partial}{\partial x} r^{-3} \quad (\because \text{積の微分})$$

$$= -r^{-3} + 3x^2 r^{-5}$$

$$\therefore \nabla^2 r^{-1} = (-r^{-3} + 3x^2 r^{-5}) + (-r^{-3} + 3y^2 r^{-5}) + (-r^{-3} + 3z^2 r^{-5})$$

$$= -3r^{-3} + 3r^2 r^{-5}$$

$$= 0 \quad (QED)$$